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Fig-1 
In the circuit shown in Fig-1, the power absorbed by the 60 resistor is 60W.

	1.
	E =
	a) 60 V
	b) 120 V
	c) 15 V
	d) 30 V
	e) 90 V

	
	
	
	
	
	
	

	2.
	R =
	a)  5 
	b) 10 
	c) 20 
	d) 30 
	e) 60 

	
	
	
	
	
	
	

	3.
	The power dissipated in the 10 resistor is 

	
	
	a)  90 W
	b) 40 W
	c) 600 W
	d) 360 W
	e) 1440 W
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Fig-2 

For the circuit shown in Fig-2, answer questions 4, 5, 6 & 7.

	4.
	The power delivered by the 12 V source is

	
	
	a) 24 W
	b) 12 W
	c) 0 W
	d) 36 W
	e) 6 W

	
	
	
	
	
	
	

	5.
	I1  =
	a) 5 A
	b) 3 A
	c)  -5 A
	d) 2 A
	e) -2 A

	
	
	
	
	
	
	

	6.
	I2  =
	a)  4 A
	b) 2 A
	c) 1 A
	d) 0 A
	e) 5 A

	
	
	
	
	
	
	

	7.
	I3  =
	a)  0 A
	b) 1 A
	c) 2 A
	d) 0.5 A
	e) 4 A
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For the circuit shown in Fig-3,

answer questions 8, 9, 10 &11.
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	Fig-3

	8.
	I1  =
	a) -10 mA
	b) -20 mA
	c) 10 mA
	d) 20 mA
	e) -30 mA

	
	
	
	
	
	
	

	9.
	V1 =
	a)  30 V
	b) -15 V
	c) 45 V
	d) 15 V
	e) 0 V

	
	
	
	
	
	
	

	10.
	V2 =
	a)  10 mV
	b) 20 mV
	c) 10 V
	d) -10 mV
	e) 15 V

	
	
	
	
	
	
	

	11.
	The power delivered by the 30 mA current source is

	
	
	a) 0.45 W
	b) 450 W
	c) 300 mW
	d) 600 W
	e) 900 mW
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For the circuit shown in Fig-4,

answer questions 12, 13 &14.

Fig-4
	12.
	Vx  =
	a) 80 V
	b) 40 V
	c) -40 V
	d) 60 V
	e) -60 V

	
	
	
	
	
	
	

	13.
	Ix  =
	a) 3 A
	b) 10 A
	c) -6 A
	d) 6 A
	e) 4 A

	
	
	
	
	
	
	

	14.
	Iy  =
	a) 1 A
	b) 1.2 A
	c) 1.8 A
	d) –1.8 A
	e) -1.2 A
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For the circuit shown in Fig-5, 
the currents are:
I1= 1.5 A

I2= 2 A. 
Fig-5

	15.
	Va  =
	a) 10 V
	b) 20 V
	c) -30 V
	d) 30 V
	e) 40 V

	
	
	
	
	
	
	

	16.
	Vac  =
	a) 60 V
	b) –30 V
	c) 30 V
	d) -60 V
	e) 0 V

	
	
	
	
	
	
	

	17.
	The power absorbed by the 20  resistor is

	
	
	a) 45 W
	b) 5 W
	c) 245 W
	d) 80 W
	e) 0 W
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For the circuit shown in Fig-6, answer questions 18, 19 &20.
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Fig-6 

	18.
	The equation of mesh #1 is given by:

	
	a) 5 I1 – 2 I2 – 9 I3 = 9

	
	b) 5 I1 – 2 I2 = 0

	
	c) 5 I1 + 2 I2 = -18

	
	d) 3 I1 – 2 I2 = 0

	
	e) 3 I1 + 2 I2 = -9

	
	

	19.
	The equation of mesh #2 is given by:

	
	a)  -2 I1 + 13 I2 – 5 I3 – 8 I4= -18

	
	b) -2 I1 + 13 I2 – 5 I3 = -18

	
	c) -2 I1 + 13 I2 – 5 I3 – 8 I4= 2

	
	d)  2 I1 + 13 I2 = -18

	
	e) 2 I1 + 13 I2 + 5 I3 = -2

	
	

	20.
	Applying KVL to the loop "abcdea" gives:

	
	a)  -5 I2 + 8 I3 + 6 I4= 17

	
	b) -5 I2 + 9 I3 -  I4= 9

	
	c) - I3 + 7 I4= 17

	
	d) -5 I2 + 3 I3 + 6 I4= 17

	
	e) -5 I2 + 9 I3 - I4= 0
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Fig-1 
In the circuit shown in Fig-1, the power absorbed by the 60 resistor is 60W.

	1.
	E =
	a) 60 V
	b) 15 V
	c) 120 V
	d) 30 V
	e) 90 V

	
	
	
	
	
	
	

	2.
	R =
	a)  20 
	b) 10 
	c) 5 
	d) 30 
	e) 60 

	
	
	
	
	
	
	

	3.
	The power dissipated in the 10 resistor is 

	
	
	a)  90 W
	b) 40 W
	c) 600 W
	d) 1440 W
	e) 360 W
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Fig-2 

For the circuit shown in Fig-2, answer questions 4, 5, 6 & 7.

	4.
	The power delivered by the 12 V source is

	
	
	a) 24 W
	b) 12 W
	c) 6 W
	d) 36 W
	e) 0 W

	
	
	
	
	
	
	

	5.
	I1  =
	a) 5 A
	b) 3 A
	c)  -5 A
	d) -2 A
	e) 2 A

	
	
	
	
	
	
	

	6.
	I2  =
	a)  2 A
	b) 4 A
	c) 1 A
	d) 0 A
	e) 5 A

	
	
	
	
	
	
	

	7.
	I3  =
	a)  2 A
	b) 1 A
	c) 0 A
	d) 0.5 A
	e) 4 A
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For the circuit shown in Fig-3,

answer questions 8, 9, 10 &11.
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	Fig-3

	8.
	I1  =
	a) -20 mA
	b) -10 mA
	c) 10 mA
	d) 20 mA
	e) -30 mA

	
	
	
	
	
	
	

	9.
	V1 =
	a)  30 V
	b) 15 V
	c) 45 V
	d) -15 V
	e) 0 V

	
	
	
	
	
	
	

	10.
	V2 =
	a)  10 mV
	b) 10 V
	c) 20 mV
	d) -10 mV
	e) 15 V

	
	
	
	
	
	
	

	11.
	The power delivered by the 30 mA current source is

	
	
	a) 300 mW
	b) 450 W
	c) 0.45 W
	d) 600 W
	e) 900 mW
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For the circuit shown in Fig-4,

answer questions 12, 13 &14.

Fig-4
	12.
	Vx  =
	a) 80 V
	b) 40 V
	c) -40 V
	d) -60 V
	e) 60 V

	
	
	
	
	
	
	

	13.
	Ix  =
	a) 3 A
	b) 10 A
	c) 6 A
	d) -6 A
	e) 4 A

	
	
	
	
	
	
	

	14.
	Iy  =
	a) 1 A
	b) -1.8 A
	c) 1.8 A
	d) 1.2 A
	e) -1.2 A



For the circuit shown in Fig-5, 
the currents are:
I1= 1.5 A

I2= 2 A. 
Fig-5

	15.
	Va  =
	a) 10 V
	b) 20 V
	c) 30 V
	d) -30 V
	e) 40 V

	
	
	
	
	
	
	

	16.
	Vac  =
	a) 0 V
	b) –30 V
	c) 30 V
	d) -60 V
	e) 60 V

	
	
	
	
	
	
	

	17.
	The power absorbed by the 20  resistor is

	
	
	a) 45 W
	b) 245 W
	c) 5 W
	d) 80 W
	e) 0 W




For the circuit shown in Fig-6, answer questions 18, 19 &20.
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Fig-6 

	18.
	The equation of mesh #1 is given by:

	
	a) 5 I1 – 2 I2 – 9 I3 = 9

	
	b) 3 I1 – 2 I2 = 0

	
	c) 5 I1 + 2 I2 = -18

	
	d) 5 I1 – 2 I2 = 0

	
	e) 3 I1 + 2 I2 = -9

	
	

	19.
	The equation of mesh #2 is given by:

	
	a)  -2 I1 + 13 I2 – 5 I3 – 8 I4= -18

	
	b) 2 I1 + 13 I2 + 5 I3 = -2

	
	c) -2 I1 + 13 I2 – 5 I3 – 8 I4= 2

	
	d)  2 I1 + 13 I2 = -18

	
	e) -2 I1 + 13 I2 – 5 I3 = -18

	
	

	20.
	Applying KVL to the loop "abcdea" gives:

	
	a)  -5 I2 + 3 I3 + 6 I4= 17

	
	b) -5 I2 + 9 I3 -  I4= 9

	
	c) - I3 + 7 I4= 17

	
	d) -5 I2 + 8 I3 + 6 I4= 17

	
	e) -5 I2 + 9 I3 - I4= 0
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Fig-1 
In the circuit shown in Fig-1, the power absorbed by the 60 resistor is 60W.

	1.
	E =
	a) 60 V
	b) 90 V
	c) 15 V
	d) 30 V
	e) 120 V

	
	
	
	
	
	
	

	2.
	R =
	a)  5 
	b) 20 
	c) 10 
	d) 30 
	e) 60 

	
	
	
	
	
	
	

	3.
	The power dissipated in the 10 resistor is 

	
	
	a)  90 W
	b) 40 W
	c) 360 W
	d) 600 W
	e) 1440 W




Fig-2 

For the circuit shown in Fig-2, answer questions 4, 5, 6 & 7.

	4.
	The power delivered by the 12 V source is

	
	
	a) 24 W
	b) 12 W
	c) 36 W
	d) 0 W
	e) 6 W

	
	
	
	
	
	
	

	5.
	I1  =
	a) -2 A
	b) 3 A
	c)  -5 A
	d) 2 A
	e) 5 A

	
	
	
	
	
	
	

	6.
	I2  =
	a)  1 A
	b) 2 A
	c) 4 A
	d) 0 A
	e) 5 A

	
	
	
	
	
	
	

	7.
	I3  =
	a)  0.5 A
	b) 1 A
	c) 2 A
	d) 0 A
	e) 4 A


	
For the circuit shown in Fig-3,

answer questions 8, 9, 10 &11.
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	Fig-3

	8.
	I1  =
	a) -10 mA
	b) -30 mA
	c) 10 mA
	d) 20 mA
	e) -20 mA

	
	
	
	
	
	
	

	9.
	V1 =
	a)  30 V
	b) 45 V
	c) -15 V
	d) 15 V
	e) 0 V

	
	
	
	
	
	
	

	10.
	V2 =
	a)  10 mV
	b) 20 mV
	c) -10 mV 
	d) 10 V
	e) 15 V

	
	
	
	
	
	
	

	11.
	The power delivered by the 30 mA current source is

	
	
	a) 450 W
	b) 0.450 W
	c) 300 mW
	d) 600 W
	e) 900 mW



For the circuit shown in Fig-4,

answer questions 12, 13 &14.

Fig-4
	12.
	Vx  =
	a) -60 V
	b) 40 V
	c) -40 V
	d) 60 V
	e) 80 V

	
	
	
	
	
	
	

	13.
	Ix  =
	a) 3 A
	b) 6 A
	c) -6 A
	d) 10 A
	e) 4 A

	
	
	
	
	
	
	

	14.
	Iy  =
	a) 1 A
	b) 1.2 A
	c) -1.8 A
	d) 1.8 A
	e) -1.2 A



For the circuit shown in Fig-5, 
the currents are:
I1= 1.5 A

I2= 2 A. 
Fig-5

	15.
	Va  =
	a) 10 V
	b) 20 V
	c) -30 V
	d) 40 V
	e) 30 V

	
	
	
	
	
	
	

	16.
	Vac  =
	a) -30 V
	b) 60 V
	c) 30 V
	d) -60 V
	e) 0 V

	
	
	
	
	
	
	

	17.
	The power absorbed by the 20  resistor is

	
	
	a) 45 W
	b) 80 W
	c) 245 W
	d) 5 W
	e) 0 W



For the circuit shown in Fig-6, answer questions 18, 19 &20.
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Fig-6 

	18.
	The equation of mesh #1 is given by:

	
	a) 5 I1 – 2 I2 = 0 

	
	b) 5 I1 – 2 I2 – 9 I3 = 9

	
	c) 5 I1 + 2 I2 = -18

	
	d) 3 I1 – 2 I2 = 0

	
	e) 3 I1 + 2 I2 = -9

	
	

	19.
	The equation of mesh #2 is given by:

	
	a)  -2 I1 + 13 I2 – 5 I3 – 8 I4= -18

	
	b) 2 I1 + 13 I2 = -18

	
	c) -2 I1 + 13 I2 – 5 I3 – 8 I4= 2

	
	d)  -2 I1 + 13 I2 – 5 I3 = -18 

	
	e) 2 I1 + 13 I2 + 5 I3 = -2

	
	

	20.
	Applying KVL to the loop "abcdea" gives:

	
	a)  -5 I2 + 9 I3 - I4= 0

	
	b) -5 I2 + 9 I3 -  I4= 9

	
	c) - I3 + 7 I4= 17

	
	d) -5 I2 + 3 I3 + 6 I4= 17

	
	e) -5 I2 + 8 I3 + 6 I4= 17 
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